&

Tyh=Fmb (7y78)

&

&

&

&

M1§ L=450
135 3000 3000 3000 135 e T
(270)
=D16 430,240 /430 _
= = - | PG = D10 @15
= >y & - -3 ? =
= & - 5-D13 ¥ k=
L 70 Tvh=fwh (79248) M16 L=450 70 r N, ] §
= 135)[135 = 135|135 = o =
= = 100 100 100
N = ; = F :
_ _ Tvi-fwh (7978) MI6 L=45( Tvh=Ewh (7926)) M16 L=45( — =|
= ol 8 E =T | O s 5
S (z, Tvh=Rwb (7924) M16 L=450
4« ~F+y )
= = 1-D13 -
MO0 7vimtwh Gysf) MI§ L=450 | 110
A %% L o = D10 @300 =
‘ ‘ _ 7-D13 —F=
No = d - — = =a 1 -
o] =< Ted — E3
= = ‘ = 15| 1270] | 115
F 1 F F FG 1%
3000 5000
7000 | Egsrex 130 |
| E@4N 150 |
T RE#ENo. ZHENo.
BRZ BE :jc%é
[ERR—Z N R KKT 3031
" SmeE . EREex il Bl Bl b
SEMHES : 100 kN, of = HoDHAT0502
R 1 /50 | fiREAE B 74 FEMIERLSH




